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Maximum : 100 marks 

Time : 1 hour and 30 minutes 

1. Consider the following table : 
 (i) Vaikunda Swamikal  – Prachina Malayalam 
 (ii)  Chattampi Swamikal – Atmavidya Kahalam 
 (iii) Vaghbhatananda – Arulnul 
 (iv) Sree Narayana Guru – Daivadesakam 

(A)  (i) and (iv) are correct (B) (ii) and (iv) are correct  
(C)  Only (iv) is correct (D) Only (iii) is correct 

2. Consider the following statements regarding Mr. Mariyappan Thangavelu : 
 (i) He won Gold Medal in 2020 Tokyo Paralympics 
 (ii) He won the medal in Men’s Javelin Throw 
 (iii)  He got Gold Medal in 2016 Rio de Janetro Paralyinpics also 
 (iv) Padma Shri was awarded to him in 2017 

 Identify the incorrect statement(s) 
(A)  (i) and (iii) (B) (i) and (ii)  
(C) (ii) and (iv) (D) (ii) and (iii) 

3. Match list I with list II : 
  List I   List II 
 (a) Ireland (i)  Fundamental duties 
 (b) USSR (ii)  Rule of Law 
 (c) Britain (iii)  Fundamental Rights 
 (d) USA  (iv)  Directive Principles of State Policy 
 Choose the correct answer from the given options  

(A)  a–(iv), b–(i), c–(ii), d–(iii) (B) a–(iv), b–(ii), c–(iii), d–(i)  
(C)  a–(ii), b–(i), c–(iii), d–(iv) (D) a–(iii), b–(iv), c–(ii), d–(i) 

4. Match list I with list II   
List I   List II 

 (a) Herman Gundert (i)  Basel Evangelical Mission 
 (b) Benjamin Bailey (ii)  London Mission Society 
 (c) Rev. Mead (iii)  Church Mission Society 
 (d) Twinkle Tab (iv)  Salvation Army 
 Choose the correct answer from the given options 

(A) a–(i), b–(iii), c–(ii), d–(iv) (B) a–(ii), b–(i), c–(iii), d–(iv) 
(C) a–(i), b–(ii), c–(iv), d–(iii) (D) a–(iii), b–(iv), c–(ii), d–(i): 
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5. PRANA portal is meant for : 

(A)  Coordinating the Yoga practices in different states 
(B)  Monitoring the implementation of National Clean Air Programme 
(C)  Monitoring the accident cases in India 
(D) Monitoring the vitamin deficiency among girls 

6. NTPC has signed MoU to setup country’s first green Hydrogen Mobility project at: 
(A)  Ladakh (B) Tamil Nadu  
(C)  New Delhi (D) Lakshadweep 

7. Identify the persons : 
 • He started the movement Somatva Samajam 
 • He was the first to make mirror consecration in South India 
 • Akhila Thiruttu is one of his publications. 

(A)  Ayyankali (B) Chattampi Swamikal  
(C)  Vaghbhatananda (D) Vaikunda Swamikal 

8. Identify the incorrect statement(s) regarding the National Human Rights Commission : 
 (i)  The Commission have the power of prosecution 
 (ii)  The Commission can visit to jails to study the conditions of inmates 
 (iii)  Justice Shri Ranganath Misra was the first Chairperson of NHRC 
 (iv)  The National Human Rights Commission of India was established on 12 October, 1993 

(A)  (i) only (B) (i) and (iv)  
(C) (i), (ii) and (iv) (D) (iv) only 

9. What  is India’s rank in the Global Youth Development Index 2020? 
(A)  26 (B) 49  
(C)  122 (D) 131 

10. What is the time limit for a ‘Public Information Officer’ for providing requested information 
under RTI Act 2005 concerning the life and liberty of a person? 

(A) 30 days (B) 5 days  
(C)  Within 48 hours (D) Within 24 hours 

11. Arrange the following in chronological order : 
 (i) Vaikom Satyagraha  
 (ii) Temple Entry Proclamation  
 (iii) Guruvayur Satyagraha  
 (iv) Shanar Agitation  

(A)  (iv), (i), (ii), (iii) (B) (iv), (i), (iii), (ii)   
(C)  (iv), (ii), (iii), (i) (D) (i), (iv), (iii), (ii)  
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12. Find out the incorrect Match : 

 (i) Article 17 – Abolition of Untouchability  

 (ii) Article 243A – Abolition of Titles  
 (iii)  Article 29 – Protection of interests of minorities  
 (iv)  Article 14 – Equality before Law  

(A)  (i) and (iii) (B) (i) and (iv)  
(C)  (iii) and (iv) (D) (ii) only 

13. The recipient of Lokmanya Tilak National Award 2021 : 
(A)  K.Sivan (B) Dr. Cyrus Poonawalla  
(C)  N.Ram (D) Sanjay Gupta 

14. The writ which is issued when the court finds that a particular office holder is not doing legal 
duty and thereby is infringing on the right of an individual is called : 

(A)  Prohibition (B) Habeas Corpus  
(C)  Quo Warranto (D) Mandamus 

15. Consider the following statements : 
 (i)  PN Panicker is known as the father of Library Movement in Kerala 
 (ii) June 19. his birthday has been observed as Vayanadinam in Kerala   
 (iii) The Thiruvithaamkoor Granthasala Sangham was founded in 1945 
 (iv)  In 2020, the Prime Minister declared June 19 as National Reading Day 
 Identify the correct statement(s) 

(A)  (i) and (iv) are correct  (B) Only (i) is correct  
(C)  (i) and (iii) are  correct  (D) (i), (ii), (iii) and (iv) are  correct 

16. ‘While teaching, a teacher neglects a child who need special inputs’. This is a violation of : 
(A)  Conservative Principle (B) Inclusive Principle  
(C)  Motivational Principle (D) Transformative Principle 

17. According to Piaget’s theory of cognitive development which stage is appropriate for 
meaningful learning of counting in descending order : 

(A)  Sensory motor (B) Pre-operational  
(C)  Concrete operational (D) Formal operational 

18. Which one is not a characteristic of essay type question? 
(A)  Reduces guesswork (B) Measures ability to organize data  
(C)  Better content coverage (D) Better content sampling 

19. A teacher teaches the procedure of subtraction of numbers through small steps so that the 
learner can work on subtraction independently. This is an example of : 

(A)  Schema Formation (B) Hierarchy of Learning  
(C) Discovery Learning (D) Zone of Proximal Development 

20. ‘The learner will be able to interpret the given graph’ is an objective set by a teacher. As per 
Revised Bloom’s Taxonomy it belongs to : 

(A)  (Remember, Content) (B) (Analyse, Procedural)  
(C) (Apply, Metacognitive) (D) (Create, Conceptual) 
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21. \OvRa RWLaO¾]q]¨OÐvp]¤  ℝ ¤ j]ÐOU ℝ SsLŸOç RRm^W›]vV (bijective) Bp]ŸOç 

JWhU (function) IfLeV? 

(A) 3)( xxf   (B) 2)( xxf   

(C) xxf tan)(   (D) ApMjGÐJimæ 

22.  ,,  IÐ]v  022 23  xxx R£ oPs°¥ (roots) BReË]¤ 333   R£ v]s 

IÍV? 

(A) 0 (B) 2 

(C) 8 (D) 10 

23. :f ℝ   ℝ IÐfV JRfLqO fOaSqWhvOU (continuous function)   xA  ℝ : 0)( xf  DU 

BpL¤ A  IÐ YeU IsæLpVSÕLuOU  

(A) KLÕ¦ Bp]q]¨OU ( A is open)  

(B) SWæLyVcV Bp]q]¨OU ( A is closed) 

(C) KLÕSeL SWæLyVScL Bp]q]¨]s æ ( A is neither open nor closed)  

(D) CvRpLÐOosæ 

24. KqO Nf]SWLe¾]R£ vw°tORa j}tU CqŸ]pLWOSÒL¥, Nf]SWLe¾]R£ SWLeOWtORa 

RRyj]R£ (sine) AjOkLfU : 

(A) AkŸWjGRJP (B) oLão]sæ 

(C) kWOf]pLWOU (D) CvRpLÐOosæ 

25. 100! IÐ yUX|pORa AvyLj]¨OÐ kP^|°tORa (terminating zeros) I¹U INf? 

(A) 20 (B) 21 

(C) 23 (D) 24 

26.  321 ,, aaaA   IË]¤, \OvRa RWLaO¾]q]¨OÐvp]¤ nLY]W NWoU (partial order) 

JfLeV? 

(A) 
















100
010

001

 (B) 
















100
011

011

 

(C) (A) jJP (B) pOU (both (A) and (B)) (D) ApMjGÐJimæ  
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27. 10  AUY°tOç KqO Ye¾]¤ 8 AUY°tOç INf DkYe°¥ DºLWOU? 

(A) 8 (B) 120 

(C) 60 (D) 45 

28. ],1[ e p]¤ 2)(log,log xyxy  IÐ} JWh°tORa (function) v]ñ}¡¹U (area) 

kq]Ye]\ÿL¤ WPa]p v]ñ}¡¹U JfV JWh¾]jLp]q]¨OU? 

(A) xy log  (B) 2)(log xy   

(C) `JmuiGjWkW¨JP (D) CvRpLÐOosæ 

29. 4137  R£ AvyLjR¾ qºV A¨°¥ Jv? 

(A) 37 (B) 47 

(C) 41 (D) 31 

30. 16 k qPk¾]ssæLRf AnL^| yUX| (prime number) JfV?  

(A) 15, 485, 687 (B) 32, 452, 843 

(C) 51, 818, 019 (D) CvRpLÐOosæ 

31. ba, IÐ yUX|WtORa syLYO 6 (lcm (a, b) = 6) BP BsGU 2 (gcd (a, b) = 2) DU BReË]¤ 

ba   pORa yLÈ|oLp v]s IÍV? 

(A) 7 (B) 8 

(C) 10 (D) CvRpLÐOosæ 

32. 2021 RykÅUm¡ 1 mOi¢ BReË]¤ 2022 RykÅUm¡ 30 JfO h]vyoLp]q]¨OU? 

(A) mOi¢ (B) v|LuU 

(C) Rvç] (D) wj] 

33. 

















65

43

21

A  pOU 







121110
989

B  jJP  BpL¤ AB  =   

(A) 1 (B) 2 

(C) 3 (D) ApMjGÐJimæ 
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34. 














 


30
227

1

c

cbcba

A , KqO yoo]f oLNa]WõV (symmetric matrix) BReË]¤, a pORa v]s 

IÍV? 
(A) 1 (B) 2 
(C) 3 (D) CvRpLÐOosæ 

35. 











cossin
sincos

)(A  BReË]¤, 





 

6
12A  

(A) 0 (zero matrix) (B) I (identity matrix) 
(C) –I (D) CvRpLÐOosæ 

36. 









dc
ba

A  KqO sUm]W oLNa]WõV (orthogonal matrix) BReË]¤, a  jJM[ sGcuiGj 

iKmuNi`Q= 
(A) 8 (B) 4 

(C) 2 (D) 
2

1
 

37. :f ℝℝ DÐ ERbP (function) j]¡vÿ\]\ÿ]ŸOçfV 















0if
2

0if
2)( 2

2

x
x

x
x

xf   IÐLReË]¤ 

JfLeV wq]? 

(A) f DU 'f  DU  c]lr¢x|m]¥ BeV (both f  and 'f  are differentiable)  

(B) f KL 'f  c]lr¢x|m]¥ Asæ (neither f  nor 'f  are differentiable) 

(C) f c]lr¢x|m]¥ BeV IÐL¤ 'f  c]lr¢x|m]¥ Asæ (f  is differentiable 
but 'f  is not differentiable)  

(D) CvRpLÐOosæ 

38. 032143103 22  yxyxyx  IÐ yovLW|U Nkf]j]i}Wq]¨OÐfV Jf]RjpLeV? 

(A) h}¡ZvQ¾U (ellipse) (B) vQ¾U (circle) 

(C) kqLSmLt (parabola) (D) RRzÕ¡SmLt (hyperbola) 

39. dx
xx

x






2

0
44

4

sincos

sin
 = 

(A) 0 (B) 1 

(C) 
2


 (D) 
4

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40. ]1,0[]1,0[   IÐ yo\fOq¾]¤ 2xy    BWOvLjOç yLi|f (probability) INf? 

(A) 
3
1

 (B) 
3
2

 

(C) 1  (D) CvRpLÐOosæ 

41. fLRu yP\]Õ]¨OÐvp]¤ 0x  p]¤ pu`WjGd¾WM£ gWÎJ  (point of inflection) BçN`  

`WdG_Q= 

(A) xy   (B) 2xy   

(C) 3xy   (D) 4xy   

42. nn
n

1
lim


=  

(A) e (B) 
e
1

 

(C) 0 (D) 1 

43. \OvRa RWLaO¾]q]¨OÐvp]¤ [0, 1] ¤ C£NYm]¥ (integrable) BvL¾SffV? 

(A) ||x  (B) x  

(C) 2x  (D) ApMjGÐJimæ 

44. 
3

sin
0

lim

x

xx
x




=  

(A) 
6
1  (B) 

3
1  

(C) 
6
1

 (D) 
3
1

 

45. ℕ IÐfV I¹¤ yUX|WtORa YeoLReË]¤ ℕ R£ C£}q}p¡  (interior of ℕ) IÍV? 

(A)   (B) {0} 

(C) ℕ (D) ℝ 

46. ℕ IÐfV I¹¤ yUX|WtORa YeoLReË]¤ ℕ M£  NRæGr¡ (closure of ℕ) DÍQ= 

(A) ℝ (B) ℕ 

(C) {0} (D)   
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47. 









n
nn x

xx
2

2
1

1  DU 11 x DU BReË]¤ JfLeV wq]? 

(A) IsæL nx jOWtOU nxlim  DU n]ÐWyUX| (rational number) BjWkW¨JP  

(B) IsæL nx jOWtOU n]ÐWyUX|jJP nxlim  An]ÐRyUX|pOU (irrational number) 

BjWkW¨JP 

(C) IsæL nx jOWtOU ?n]ÐWyUX|jJP nxlim n]ÐWyUX|jJP @jWkW¨JP 

(D) IsæL nx jOWtOU nxlim DU An]ÐWyUX| @jWkW¨JP 

48.  n
1

cos   IÐ Sèe] : 

(A) v]Nv^]¨OÐO (divergent)  

(B) yUNv^]¨OÐO WPaLRf 0 SsLŸV yUNv^]¨OÐO (convergent and converges to 0) 

(C) yUNv^]¨OÐO WPaLRf 1 SsLŸV yUNv^]¨OÐO (convergent and converges to 1)  

(D) CRfLÐOosæ 

49. [0, 1] ¤ r}oL¢ C£NYm]¥ (Riemann integrable) AsæL¾SffV? 

(A) )(sgn)( xxf    

(B) ||)( xxf   

                        x , x  n]ÐWyUX| BReË]¤ (if x  is rational) 

(C) f (x) =   ,x    x  An]ÐWyUX| BReË]¤ (if x  is irrational)  
   

      0,  x IÐfV 0 BReË]¤ (if )0x  

(D) f (x) =   ,
1
n

x IÐfV 
n
m

 DU DyLZ (m, n) = 1 BReË]¤ (if 
n
m

x   with gcd (m, n) = 1) 

       0, x IÐfV An]ÐWyUX| BReË]¤ (if x  is irrational) 

50. 
2

1x  v]¤ fOaSqWhU (continuous function) AsæL¾SffV? 

(A) )(sgn)( xxf    

(B) ||)( xxf   

              x , x  n]ÐWyUX| BReË]¤ (if x  is rational) 

(C) )(xf   ,x    x  An]ÐWyUX| BReË]¤ (if x  is irrational)  

    0,   x  IÐfV 0 BReË]¤ (if )0x  

(D) )(xf   ,
1
n

x  IÐfV 
n
m

 DU DyLZ (m, n) = 1 BReË]¤ (if 
n
m

x   with gcd (m, n) = 1) 

                     0,   x  IÐfV An]ÐWyUX| BReË]¤ (if x  is irrational) 
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51.  iez  BReË]¤ 
n

n

z
z

1    

(A) ncos2  (B) nsin2  

(C) cos2  (D) sin2  

52. \OvRa RWLaO¾]q]¨OÐvp]¤ ℂ (set of complex numbers) p]¤ mTºcV lyQx¢ 

(bounded function) JfV? 

(A) zzf sin)(    

(B) zezf )(  

(C) (A) SpL (B) SpL Asæ (neither (A) nor (B))   

(D) (A) pOU (B) pOU (both (A) and (B)) 

53. r = zkyjxi   BReË]¤ div )(r  =  

(A) 0 (B) –1 

(C) –2 (D) 3 

54. xey 315  j]¡ÈLqeoLWOÐ (solution) AvWsj yovLW|U (differential equation) JfV?  

(A) 06'5"  yyy  (B) 02'3"  yyy  

(C) 08'6"  yyy  (D) CvRpLÐOosæ 

55. xey
dx
dy   R£ j]¡ÈLqeU (solution) JfV? 

(A) )( cxey x    (B) )( cxey x   

(C) )(2 cxey x   (D) )(2 cxey x    

56. r  = zkyjxi   BReË]¤  r  

(A) Zero vector (B) i3  

(C) 3r  (D) kji 333   

57. a  = kji 657  , b = ,13512 kji   
c = 

 ba 52  BReË]¤ ],,[

cba =  

(A) 1 (B) –1 

(C) 0 (D) ApMjGÐJimæ 
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58. C  DÐ`Q x  AƒvOU 122  yx  DÐ pL¾¾WM£ iJR¥ hGTP (upper semicircle)  

B¥M¨GçJÐ IeNbq¾WM£ (region) ?`W¡¾WjJiGM_ËW¤ (boundary)  

   
C

dyyxdxyx )()2( 2222   

(A) 
3
1

 (B) 
3
2

 

(C) 
3
4

 (D) CvRpLÐOosæ 

59. S  IÐfV, 1222  zyx IÐ SYLtU (sphere) BReË]¤  
S

dAyjxi )23(  

(A) 
3

10
 (B) 

3
20

 

(C) 
3

40
 (D) CvRpLÐOosæ 

60. C  IÐfV (0, 0) oOf¤ (1, 1) vRqpOç 2xy   IÐ kqLSmLt (parabola) BReË]¤ 

 
C

dxxy  

(A) 0 (B) 
4
1

 

(C) 
2
1

 (D) 
4
3

 

61. Nñ}WtOU kOqOxÓLqOU D¥RÕŸ KqO NYPÕ]R£ wqLwq] NkLpU 33  vpôLeV. Cf]¤ 

kOqOxÓLqORa oLNfU wqLwq] NkLpU 42  vpôOU, Nñ}WtOSafV oLNfU wqLwq] NkLpU  

27 vpôOU BReË]¤ B NYPÕ]Rs kOqOxÓLqORa wfoLjU INf? 

(A) 60 (B) 40 

(C) 50 (D) We¨L¨L¢ yLi]¨]sæ 

62. KqO yLÒ]¥ Sy×yV   p]Rs KqO Cv£V A  IÐfV Af]SjLaV fRÐ C¢c]RÕ¢c£V  

BpL¤ )(AP   pORa KqO yLc|oLp v]s JfV? 

(A) 1 (B) 0.5 

(C) 0.25 (D) 0.05 
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63. KqO yUZ¾]¤ ‘n ’ B¥¨LqOºV. Cvq]¤ j]ÐOU ‘ k ’ B¥¨L¡ D¥RÕŸ KqO rL¢cU 

yLÒ]¥ r}SkæyVRoS£LaO WPa] RfqR´aO¾L¤, KqLtOU KÐ]si]WU fve yLÒ]t]¤ 

D¥RÕaLf]q]¨LjOç SNkLmm]s]ã] IÍV? 

(A) 
k
k

n

nP
 (B) 

knP
1

 

(C) 
kn

1
 (D) 

k

k

nP
n

 

64. KqO S^Lc] A¦mpyVcV RRcyV Bv¡¾]\ÿO SaLyV R\áOÐO. qºO RRcpOU 

WLe]¨OÐ yUX|WtORa fOW 4 vqOÐf]jOoOÒV AvpORa fOW 7 WLe]¨LjOç 

SNkLmm]s]ã] IÍV? 

(A) 
2
1

 (B) 
7
3

 

(C) 
7
4

 (D) CvRpLÐOosæ 

65. X  IÐfV ðL¢cL¡cV SjL¡o¤ Svq]pm]¥ BeV.   IÐfV KqO r]p¡ yUX| 

BReË]¤, ||xE  BWeRoË]¤   pORa v]s IsæLpVÕLuOU IÍLWeU? 

(A) 0  (B) 11   

(C) 1  (D) 1  

66. k¾O yUX|WtORa wqLwq] 20 BeV. CT k¾O yUX|Wt]Rs KLSqL yUX|pOU 5 v}fU 

v¡È]Õ]\ÿL¤ AvpORa wqLwq] IÍLWOU? 

(A) 20 (B) 25 

(C) 15 (D) CvRpLÐOosæ 

67. KqO jLepU A¦mpyVcV BSeL IÐr]pLjLp] 5 fve SaLyV R\áOÐO. sn]¨OÐ 

RzcOWtORa I¹U 0 ARsæË]¤ 5 BReË]¤ oLNfU mpyVcV Bp] We¨L¨OÐO 

IË]¤ CT Rað]R£ Rsv¤ KLlV y]®]l]¨¢yV INf? 

(A) 
3

2
1






 (B) 05.0  

(C) 
4

2
1




  (D) 0 
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68. fLRuÕrpOÐvp]¤ JfO fqU NYLlLeV KqO Wº]j|OvyV ScãàV AjOSpL^|oLpfV? 

(A) z]yVSãLNYLU (B) mL¡ cpNYU 

(C) RRk \L¡ŸV (D) CvRpLÐOU AjOSpL^|U Asæ 

69. KqO vLzj¾]R£ KqO h]wp]SspOU oa¨pLNfp]SspOU wqLwq] SvYf WLeL¢ JãvOU 

AjOSpL^|oLp q}f] JfV? 

(A) yLiLqe wqLwq] (B) S^|LRoNa]WV wqLwq] 

(C) zL¡SoLe]WV wqLwq] (D) o}c]p¢ 

70. S IÐ KqO Ryã]¤ ‘n’ vñO¨¥ DºV. BA,  IÐ]v S R£ ymVRyãOW¥ BeV. IË]¤ 

SBA   BWLjOç SNkLmm]s]ã] IÍV? 

(A) n)5.0(  (B) n)75.0(  

(C)  n25.0  (D) CvRpLÐOosæ 

71. fLRuÕrpOÐvp]¤ KqO SjL¦kqLRoNa]WV RaðV JfV? 

(A) Z - RaðV (B) t - RaðV 

(C) r¦ RaðV (D) ASjLv 

72. F  IÐfV KqO Wº]j|OvyV rL¢cU Svq]pm]¥ X  R£ c]yVNa]m|Px¢ 

lyQxjLReË]¤, )(XF  R£  c]yVNa]m|Px¢ IÍLp]q]¨OU? 

(A) SjL¡o¤ (B) m}ãL 

(C) c}R^jSrãV (D) CvRpLÐOosæ 

73. fLRuÕrpOÐvp]¤ KqO SsL¨¤ W¦SNaL¥ q}f] JfV? 

(A) rL¢cRRoSyx¢ (B) ASjLv 

(C) Bv¡¾]\ÿOç v]vqSwXqeU (D) SmæL¨]yQ 

74. ),( yxf  ),( YX  pORa Rc¢y]ã] lyQxjLeV. IË]¤ fLRu krpOÐvp]¤ wq]psæL¾SffV?  

(A) ),( YX  IÐfV 2&SjL¡o¤ ),,,,( 2121  BpL¤ YX ,0   IÐ]v 

C¢c]RÕ¢c£V BeV  

(B) ),( yxf  IÐf]R£  oL¡^]j¤ Rc¢y]ã]W¥ SjL¡o¤ BpL¤ ),( YX  IÐfV 

2&SjL¡o¤ ),,,,( 2121  Bp]q]¨OU 

(C) YX , IÐ]v C¢c]RÕ¢c£V BReË]¤ 0  Bp]q]¨OU  

(D) ),( YX  IÐfV 2&SjL¡o¤ ),,,,( 2121  BReË]¤ YX , IÐ]v SjL¡o¤ 

Bp]q]¨OU 
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75. ),(.....,),(),,( 2211 nn YXYXYX  IÐ cLãpORa SWLr]Ssx¢ R  @_Q. DmæG N]ãG 
NeGjW£JRnJP FkJ Nd¡NkSjW¤ òW`WMVjÅG¤  R  R£ v]s IsæLpVSÕLuOU 

IÍLp]q]¨OU? 

(A) 1 (B) 1  
(C) 1 ARsæË]¤ –1  (D) 0 

76. BA,   IÐ} qºO a}oOWtORa oÃq¾]¤ A  pORa v]^pyLi|f 
3
2

BeV. C¾qU jLsO 

oÃq°t]¤ KqO oÃqU oLNfU  A  ^p]¨LjOç SNkLmm]s]ã] INf? 

(A) 
4
1

 (B) 
8
3

 

(C) 
2
1

 (D) CvRpLÐOosæ 

77. yLÒ]¥ RRyyV WPaOSÒL¥ WOrpOÐSffV? 

(A) yLUkæ]yQ  R\svV (B) yLUkæ]yQ Ir¡ 

(C) yLUkæ]yQ A`k Ir¡ (D) WQf|f 

78. X   IÐfV KqO rL¢cU Svq]pm]tOU a  IÐfV KqO r]p¤ yUX|pOoLeV IË]¤ 2)( aXE   

R£ v]s o]j]oU BWLjOç a JfLeV? 

(A) Svq]p¢yV (B) ðL¢cL¡cV c}v]Spx¢ 

(C) )(XE  (D) o}c]p¢ 

79. KqO RRzSÕLRfy]yV  %1,H  Rsvs]¤ j]qLWq]\ÿL¤ 5% Rsvs]¤ IsæLpVSÕLuOU : 

(A) y~}Wq]¨OU  

(B) j]qLWq]¨OU 

(C) y~}Wq]¨OWSpL j]qLWq]¨OWSpL R\áLU  

(D) WPa]p yLÒ]¥ RRyy]¤ RaðV R\áeU 

80. KqO NYPÕ]Rs 25% vñO¨tORa v]s  k¾]¤ WOrvOU, 25% vñO¨tORa v]s jL¤Õf]¤ 

WPaOfsOU BpL¥ SWLpl]x£V KLlV W~L¡RRŸ¤ c}v]Spx¢ INf? 

(A) 
2
3

 (B) 
5
3

 

(C) 0 (D) 
2
1   

81. ),( YX  IÐf]R£ qºO r]NYx¢ CSW~xjOW¥ 012625,01549  YXYX  IÐ]v 

BpL¤ SWLr]Ssx¢ INf? 

(A) 54.0  (B) 0 

(C) – 54.0  (D) 85.0  
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82. ),( YX  IÐ]v SjL¡o¤ rL¢cU Svq]pm]tOW¥ BeV WPaLRf )()( YXVYXV   

ISÕLuOU wq]pLpSffV? 

(A) )()( YVXV   (B) YX ,  IÐ]v C¢c]RÕº£V BeV 

(C) YX IÐ]v SWLr]SsãcV BeV (D) CvRpLÐOosæ 

83. X  R£ Rc¢y]ã] lyQx¢ 0,0,)(   xkexf x  BpL¤ )(XE  INf? 

(A)   (B) 

1

 

(C) 2  (D) ApMjGÐJimæ 

84. X  IÐfV ],[ ba  p]¤ j]¡vÿ\]\ÿ]ŸOç KqO rL¢cU Svq]pm]¥ BeV. X  R£ Rc¢y]ã] 

lyQx¢ )(xf  BpL¤ 
b

a

dxxfx )(log  IÍV? 

(A) S^|LRoNa]WV wqLwq]   

(B) S^LRoNa]WV wqLwq]pORa v|O¤NWoU 

(C) zL¡SoLe]WV wqLwq]pORa v|O¤NWoU  

(D) CvRpLÐOosæ 

85. X  IÐ rL¢cU Svq]pm]t]R£ Rc¢y]ã] lyQx¢ )(xf 10),1(6  xxx  BeV. 

)()( kXPkXP   BWeRoË]¤ k  pORa v]sRpÍV? 

(A) 0.5 (B) 1 
 (C) 0.05 (D) CvRpLÐOosæ 

86. nXXX ....,, 21 IÐ]v ),1( pb SkLÕOSsxj]¤ j]ÐOç KqO rL¢cU yLÒ]¥ BReË]¤ 

wq]pLp NkñLvj JfV? 

(A) iX IÐfV p  àV yl]x|£LeV  

(B) )1(X IÐfV p  àV yl]x|£LeV 

(C) )(nX IÐfV p  àV yl]x|£LeV  

(D) So¤Õr´ oPÐO NkñLvjWtOU wq]pLeV 

87. KqO S\Lh|U D¾qU WºOk]a]¨LjLp] oPÐO v]h|L¡À]W¥¨V j¤WOÐO. oPÐOSkqOU 

RvSvÿRr  B S\Lh|¾]jV D¾qU wq]pLp] WLeOÐf]jOç SNkLmm]s]ã]W¥ pgLNWoU 

41,43,21  IÐ]°RjpLeV, IË]¤ B S\Lh|¾]jV wq]pO¾qU W]ŸOÐf]jOç 

SNkLmm]s]ã] INf? 

(A) 
4
3

 (B) 
11
9

 

(C) 
32
3

 (D) CvRpLÐOosæ 
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88. oPSÐL Ai]si]WSoL Rj¤v]¾]j°tORa kq}ƒe¾]¤ IsæL¾]R£pOU wqLwq] 

v]tvV KqOSkLRspLSeL IÐr]pL¢ JfOfqU RaðV DkSpLY]¨LU? 

(A) SWLr]Ssx¢ (B) ASjLv 

(C) t-RaðV (D) CvRpLÐOosæ 

89. fLRuÕrpOÐvp]¤ JfO yP\]WpLeV RjYã}vV oPs|U D¥RÕaOÐ cLãLàV AjOSpL^|U 

AsæL¾fV? 

(A) S^|LRoNa]WV wqLwq] (B) o}cp¢ 

(C) ðL¢cL¡cV  c}v]Spx¢ (D) SoLcV 

90. qºO jYq°t]¤ KqLuV\p]Rs  IuO h]vy°t]¤ RkpÅ oupORa AtvOW¥ 

j¤W]p]ŸORºË]¤, JfO jYq¾]jLeV oupORa Atv]¤ WPaOf¤ ò]qfpOçfV IÐO 

We¨L¨L¢ DkSpLY]¨OÐ  yP\]W JfV? 

(A) wqLwq]  

(B) SoLcV 

(C) SWLpl]x|£V KLlV Svq]Spx¢  

(D) SWLpl]x|£V KLlV W~L¡RRa¤ c}v]Spx¢ 

91. KqO ScãL c]yVNa]m|PxR£ y]RoNa]Rp At¨L¢ DkSpLY]¨LvOÐ yP\]W JfV? 
(A) 1  (B) 2  

(C) SWLr]Ssx¢ (D) SrμV 

92. yLiLqe j]sp]¤ AkP¡vÿoLp] oLNfU  yUnv]¨OÐ KqO Cv£]Rj j]¡vÿ\]¨L¢ 

DkSpLY]¨LvOÐ c]yVa]m|Px¢ JfV? 

(A) RRmSjLo]p¤ (B) RjYã}vV RRmSjLo]p¤ 

(C) SjL¡o¤ (D) SkLSyL¦ 

93. fLRuÕrpOÐvp]¤ JfO fqU yLkæ]yQQ kv`W¨G_Q qGIñvjiGj sGcJ` AmæG¾`Q= 

(A) yVNaLã]RRlcV (B) Wæð¡ 

(C) ^cV^VRo£V (D) cm]¥ yLkææ]yQ 

94. X  IÐ rL¢cU Svq]pm]t]R£ Rc¢y]ã] lyQx¢  );( xf BWOÐO. (  DÐ`Q 
ekGivã¡ @RJÐJ) IÐL¤   pORa KqO yl]x|£V ðLrr]ð]¨]Rj yUmÌ]\ÿV fLRu 

krpOÐvp]¤ IsæLpVSÕLuOU  wq]pLp]ŸOçfV JfV? 

(A) yl]x|£V ðLrr]ð]¨V IsæLpVSÕLuOU DºLWOU 

(B) IsæLpVSÕLuOU DºLWeRoÐ]sæ 

(C) kqoLvi] KSq KqO I¹U oLNfU DºLWOU  

(D) 
)(nX  IsæLpVSÕLuOU yl]x|£V  Bp]q]¨OU. 
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95. X  R£ k].c].IlV. );( xf  BeV. RaðV R\Sáº j¥ RRzSÕLRfy]yV 00 : H  DU 

B¥Ÿ¡Sjã}vV RRzSÕLRfy]yV 01 : H  DU BReÐ]q]¨RŸ. 1H  IÐfV 

pgL¡À¾]¤ RfãLp]ŸOç yLz\q|¾]¤  0H  y~}Wq]¨OÐf]jOç SNkLmm]s]ã]Rp  

—————— IÐOv]t]¨OÐO. 

(A) kv¡ (B) 1 – kv¡ 

(C) Rsv¤ (D) 1– Rsv¤ 

96. X  IÐ rL¢cU Svq]pm]t]R£ WLqW›r]ð]WV lyQr¢  )(tX  BReÐ]q]¨RŸ. 

fLRuÕrpOÐvp]¤ JfLeV ISÕLuOU RfãLp]ŸOçfV? 

(A) )(tX  ISÕLuOU j]¡vÿ\]¨ÕRkŸ]q]¨OÐO 

(B) )(tX  IÐfV ISÕLuOU pPe]SlLoVs] Wº]j|OvyV Bp]q]¨OU 

(C) 0,0)(  ttX BWOSÒL¥  

(D) 1)(  tX  

97. KqO RRmSjLo]p¤ Svq]SpãLp X  R£ o}¢ 4 DU Svq]p¢yV 3 DU BpL¤ Af]R£ SoLcV 

INf? 

(A) 4.25 (B) 5 
(C) 4 (D) SoLcV j]¡vÿ\]¨RÕŸ]Ÿ]sæ 

98. KqO kqLo}ã¡    pORa KqO Il]x£V Ið]Soã¡ BeV T . T  pORa Il]x|¢y] e BWOWpOU , t   
IÐfV     pORa KqO Il]x£V Ið]Soã¡ BWOWpOU R\pÅL¤ T  pORapOU t  pORapOU 

kqy×qmÌoOç SWLr]Ssx¢ INf? 

(A) e  (B) 
e

1
 

(C) 0 (D) CvRpLÐOosæ 

99. qºO fqU K^}vOWtOU fÚ]¤ WPŸ]oOŸOÐ m]ÎOv]¤ j]ÐOU Sjq]ŸO WLeLvOÐV JfV? 

(A) wqLwq] (B) SoLcV 

(C) o}c]p¢ (D) CvRpLÐOosæ 

100. X IÐ rL¢cU Svq]pm]t]R£ k].c].IlV. IÐfV .....3,2,1,
2
1

)( 





 xxf

x
 BReË]¤ 

X  R£ SoLcV INf? 

(A) SoLcV Csæ (B) 0 

(C) 1 (D) 
2
1

 

 
———————— 
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